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Read the following instructions carefully before
you open the Question Booklet

1,

A separate OMR Answer Sheet is supplied
for writing the answers. Write down vour
Application Form No, & 11 digit Roll
Number on it as per vour Admission Card
and darken the appropriate circles on the
answer aheet.

Check that Set Code (A, B, C or D) is printed
on the Booklet and indicate vour set code
by blackening the appropriate circle in the
OME Answer Sheet.

Do not write anything in this Booklet except
the 11 digit Roll No, However vou can use
the blank pages provided for the rough work
at the end of this Booklet.

Start answering when you are told to do so
Do not turn the pages ‘before that.

Answer all the questions, Each question has
four probable answers of which one is
correct. You have to choose the correct one
and blacken your choice in the OMR Answer
Sheet by a black / blue ball point pen. Use of
pencil is not allowed. If your choice is second
response then answer like this.

® @O D
For wrong answer, there is no dedoction of
marks. One mark shall be awarded lor cach
Correct res
No mark will be awarded for a question
if a candidate darkens more than one
choice.
Return the Answer Sheet only to the
invigilator as soon as the final bell rings.
English version of the Question Paper will
be considerad as final if any dispute arises
in the translated version
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Directions for question number 1 to 2 :

Chioose the alternative which closely resembles the
waler-image of the given combination,
1. vAYU8438

(A}l AVANBLED (B} .IWAHE'Hﬁ/
(T} AvANEd3a (D) AwvAnegdee

2 mﬁat{)ﬂg b} 1%4

(A} wo0ons.ic
L) wconslc (D}  wconaTic

Directions for question number 3 to 4 :

Find out from the four alternatives as to hote the
puttern weuld appear when the transperent sheet is
folded at the dotted lne

3.

g9 DAY 1 g2 QI FeTNNPH

PRERIRG AV GREE G2 IR8e SEDESIEY
a0 e/

1. VAYUB436
(A)  AVANBRED (B)  AvAne+3e
(C)  AvANB<39 (D) AvAna+ee

2. ACOUSTIC
(Al  ¥20NsLC (B}  wconzuc
€y voconsuc (D) vconaTic

99 2 3 g4 A Fedaee -

U PSR EPRIEY FENY SRNTR QER QRS
EEE FREET SRTANST FLY 59w FEil o

T e g o)
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Directions for question number 5 to 7 :

In each of the questions, there are some words
tramslated from an artificnl longuage. Stidy them
aned answer the attached question

8. aplwose means first base; eplaose means

6.  krekinblaf means work force; dritakrekin -

means goundwork; krekinalti means
workplace.

Which word :avm ;
{A) moropald

(C) altiblaf (D) dritaalti

. R | means fruilcake; pakeshilln means
tf_keuuik.' treftalim means butlercip.
Which word could mean ‘ru';x".gge" ?

(A) shillenalan (B} pleka
{C) pakitreft (D) Aalanpaki

Diirections for question number 8 to 10 :

All the opposite faces of a big cube ane colored with
red, black and green. After that it s cul mio 64 smull
equal cubes, then.....

8. How many small cubes are there where
one face is green other one is either

black or red ?

(A} 28 (B) B

(€) (D) 24
B-4

Q9 QW 597 IR FENRISRT :

DEEWR SR & 4G G BN 6N meNETe |
R SR 2 CECITE £ Ge 08/

5. atprlaose sl B first base; epliaoses) 217 second
base: lartabuk & 29 ballpark, 6568 626
795 B “bascball”?

(A} buklarta
(€

(B}
(™

pselarta
bukose ROt el

6. krekinblaf 6 Bl work force; dritakrekin 8
atd goundwork; krekanall means workplace

G060 606 o0 B "someplace”?
(A) moropalti (B
{C) altiblal (I

dritaaln

7. Plekipaki i 'EJ-EE_,"rrm'n'rl.'r.: putkishaliin b ald

cakewnlk; treflalon @ BE bublercup, 5 6969
el 096 B8 “cuponke 7

(A} shillenalan
(€]

(8}
(™

treftpleka
pakitreft alanpaki
Qg UM B G 10 T8 FeRNI9E «

o 79 o Foen BgERR o e F O e
TR/ 6Y R i UGS T IR 8T T SRR
GEYE....

8., GRSHID RTRG SEIEY G Qg9 95T B 98
) R6 &Rl iR aEe 7

(A)
()

28
16

(B} B

(O) 24

S5TM-1-2018-19




9,  How many small cubes are there whose 3 | 9. GRG0 GRaee S6RE O oER 909 7
faces are coloured 7

(A) 24 B 4 (A} 24 ® 4
(€ 1s (W) (C) 16 (D) 8

10. How many small cubes are théte whose | 10, 5@55% IRaee salal o efs qed ?

no faces are coloured 7

(A) 0 i (A) © B &

(C) 16 Dy 4 () 1le () 4
Directions for question number 11 to 12 : g9 @4 11§ 12 Qe Fedaest :
To wivich of the cubes in the alternatives can the | (X) PP QITRER PRV ALY 670 0
frgure (X) result when fidded ? s

11, In which of the cubes can the figure (X) | 11, (X) P@Eq SIPRER ﬁﬂ‘?ﬁﬁ'ﬂ‘?ﬁﬂﬁ&ﬁ'iﬁ?

result, when folded? Geat ahe 7
(F) (F)
(A)] (E) (A)] (E}
(B) (B)
(C) {n}i (C) ({1
(%) | (%)
(A) (B (A) (B)

S

&>

AT
NEAN

STM-1-2018-19 B-5
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12,

13,

14.

15.

e &

(B)

2 W

(<) (1)

I a family, the father took 1/4 of the cake
and he had 3 times as much as each of the
other members had. What is the total
number of member in the lamily 7

(A) 3 / B 7

{C) 1l (D) 12

In a certain code 'LATE' is written as
“S%#E and "WIDE" is written as "“DA&’,
Then how "DIAL" will be coded?

Byt
(A) A@E#S

(B) A@%s

(C) AQ:S (D) AB%#

If “SCOTLANDY is written as ‘13483678,
LOAN s written ag "8124" and DAN is

written as ‘337", then what will be the
code for 'C' 7

&
A & J

{C) 5

(B) @

(D) 4

11

13.

14.

15.

=
[

(X)

2 @
(A) (B) (<) (D)

sRIEe DESIGER QIE) BEITY EmEG 1/4 B
Fiesn | 10 Gleflel e DR IEE e S0
SRR GGRG 3 1 600 DETIGE SRIRTE
&G 7

(A) 3 B 7

10

() (D 12

a0 A5 QESEE SIBIES LATE & S$%#a
GRAIEH 'WIDE"g **DAG. GRHIEH 6858

DIAL & 6276 sRade)

(A) A@#S (B} ABE%S

(C) AB%S (D) AD%#

0§ 'SCOTLAND' & ‘12345678 6@l
smelald LOAN & '8124° 6918 SmENENE 3
DAN @ '537 6516 6RO 6065 'C' q aa
Emsl 508 ?
(A) 6 (B 9

(€ 3 (D) 4

S5TM-1-2018-19



16.

17.

In a certain code language "Always
Create New Ideas’ is wrilten as “ba ri sha
gi". "ldeas and Mew Thought' is written as
‘fa E]_;I-a i "Create Thought and Insight’
is writhen as "k ri la fa’,

What is the code r'pr”'!-ﬁE.-‘-"LE ?

(A) sha - (B} ba

() (D) na

In a tmtnui code 2x3=5f, 5x6=113,
8% 9=1772, thep L1~ ?

(A) 34 {(B) 45

{C). 55 (D 44

Directions for question number 18 to 20 :
study the following pre-chart relating to the
proportion of population of seoen villages and the
table relating to % of prople below poverty line in
each village. Answer the followimg questions.

Village o j."upul.:ll'.i:m. below
poverty line
X T
Y 52
F 42
39 51
5 49
T 46
| v 54

Find the popul .'Lm of village S if the

18.
poepulation of viflage X below poverty line
is 12160,
{A) 18500 (B) 20500
(C) 2200 (D) 26000
STM-1-2018-19

16.

17,

o QIEEE BISEE “Always Create New
Ideas” @ 'ba ri sha gi' 6546 GRSEAM] Ideas
and New thought & “fa gi na ri’ B9
SWEII] "Create Thought and Insight' &
ki i la fa" G GREILIM | 660 QIERER QIBIES

IDEAS o @) 6REIEES |
(A) sha (B) ba
(€} g () na

2R 2x3=56, 5x6=1130, 8% 9=1772, T4,
6060 4x1="7

(A) 54 {B) 45

(C) 55 (D) 44

D9 QWY 18§ 20 QI FESQINR :
B R 7 SR GFR SRR Snae d
ERERYBE B G €YY ISR 65 R Sy GRiewe

gEvh CONRRE U SRR P6 P0TReR aRe
ee/

18.

Village 4 pﬂpu]ﬂiiﬂn_ below
poverty line
X a8
Y 24
Z 42
R al
5 49
T 46
v =1

B8 X" QIR SISy SIRIESR SeRET caae
e 12160 §4 6560 'S QIR SRisaTem
=l

(A} 1B500 (B) 20500

{C) 22000 (D) 26000



19.

20.

The ratio of population of village T below
poverty line to that of village Z below
poverty line

(A} 11:21

(B} 23:21

(C) (O} 11:13

If the population of village R is 32000, then
what will be the population of village ¥
below poverty line ? _—7

(A} 156 16500

(B)

(C) 14200 (D) 18000

Directions for question number 21 to 22 :

Select the figure wich sehisfies the same condilions
of placenent of the dots as in Figure-(X).

1

CR=VZirs

(X)

() {B) \?{

19.

20,

T BT GIFIEG GBI aFessl eanEle
ERIFSE FRMEG BROIE BRE6 7

R GiFIG BRI ENeN 32000, 6869 YT RGN
DR IFIRGH CeR BT GRleSt SeM 6e6E ¢

(A) 15600 (B) 16500

(C) 14200 (D) 18000

Qe 21 g 22 OIS FESAISR :

6 (X.) 668 FRePne 6861 20gIF AEE CeTFIRe
NG 6% PEEER FRERRe 9AR 2PgR O
JEEN REE 7

=

(X)

CE=SZis)

(A} (B) )

STM-1-2018-19




%>
@ H <@

(A {a
Directions for question number 23 to 24 :

Select the alternative which represents three out of
the five alternative figures which when fitted into
each other would form a complete square.

@@ﬂxr/ﬂﬁ

oW @)
(A) (1) L2, (3) (B) (1) (@) (3)
|" (S (1 (3) B (@ 1) (@) (4
W AV D [L
(1) (2)
(A) (1) (21 (4) (B)  (3). (4. (3)
(€)1} 2) ) D - (3)
25. On dividing a number by 5, we get 3 as

remainder. What will the remainder when

the square of the number is divide by 37
(A} O {B) 1

(<) 2 (D)

5TM-1-2018-19

22. %}

B

(A

g9q Qe 23 Q 24 OIS Fedaiee ;

e PERS5 SE SR SR SEN RIS SRTY
FAR R PEREE FOV SEEND BN SOREY %/

/xﬂvﬂﬂh

W @
(A) (1) (2) (3) (B) (1), (4). (3)
(C) (1) (3), (5) (D) (1) (2), (4)
v AN D = B
(1) (2
L~ (A) (1) (3 (@) {B) (3} (4). (5)
(1) (2 3 (D) (1), (3). (5)

25, I SoMe 5 Uil BiRtnER 3 SINIEHE GhE | 6

TEMIG @65 5 Y6 SIRRER SRE0 MGG

il
(A) 0 B 1
[ 2 (o) 4



Directions for question number 26 to 28 :

Look carefully at the sequence of symbols to find the
pattern, Select correct patiern.

2% B AN OAIA ?

g8 E/ :
(A) (B) (L)

7. SO0 1PRIE?E
oQ OO & o9
(A) (B} (€)
2. [ea|en ]| Jen| 2
& [
© §l
29, The product of two numbers is 1
the sum of their squares is 289, sum of
the number is:
(A) 20 ) 23
(C) 169 (D) 100
30, 1f 6™ March, 2005 is Monday, what was
the dav of the week on 6 rch, 2004 7
(A) Sunday (B} Saturday
(C) Tuesda (D) Wednesday
B-10

//@Q 5& 8O &9
(

Q9 DwYl 26 28 GG FeSaIea :
CERRE GYIReI BLEnGl eFy Vel SRV O/

2. B EAIAOCIG@AIA ?
has 8 8 o
(&) (B) (©) (D)

7. _O808 |9Rea6T®

() (B} (€) (D)

B fes |en ]| fen1 7

(A) (= B =
(C) SI (™ -:-—-:Z

29, GUf @9NIE POTE 120 8 SIAIRTE 9ER

ang 280, @9y gabe @ng ceed -

(A) 20

()

(B) 23

164 (M 100

Q% 2005 AdRI9 AT AITE ERPRIR T4,
cees 2004 PEYIG AIF 6 SIRE cWE 9

30,

e 7
(A) eE9R (B acoe
(Cy PEes (0} QuLN\

S5TM-1-2018-19



Directions for question number 31 to 33 ;

There is a definite relationship betiween figures A
and B. Establish a similar relationship between
Jigures O and D' by selecting o suifable figure from
the alternatives tha! would replace the question

99 el 31 Q 33 ae Fedaiea! :
A 5 B Y AR G0 AUS O S5 C & D FRAW

miark,
¥ =
0’ ?
/;,'-_—-'
{A) (B) (| ()
AR IPRAS
(1) (2) W3 (4)
(A) 1 m 2 3 (D) 4
12,
CHCOAZIE
o (A) (B) () ()
S
(U [N U RS
(1) 2 (3 (4
(A) 1 By 2 (C) 3 (D) 4
33,
5 G| ?
W ® P D
oo o | B, &’Q (=u
{1) (2 ) (4]
(A} 1 (B) 2 1({C)] 3 (D} 4
STM=1-2018-19

¢

I T GIGSEY CRVEY BOVE gRai 1/
. =
£ 2
//‘:l
(Al (B) (C) (D
d AN ||
(1) (2) (3 (4
(A) 1 (B 2 () 3 (D) 4
32.
@@
(A) (B {©) ]
(1) (2) (3) {4)
Ay 1. B 2 () 3 (D 4
a3,
k|| G| 7
(A) ® © (D
n (| 22 || v || GV
(1} (2) (3) (4)
{A) 1 B 2 g (D) 4



Diirections for gquestion number 34 to 36 :

Find out winch of te answer figure compeies the
figure mutrix ?

&

9| ~

&
&

W ® @ o
P

\p’i?.{:—

Y| b

& B[] 4

W B © th

g9 T 5 34 § 36 TIG TR :
G FE AR SR B STy e e 7

34.

D

7] & O
(Al {B) ) (B}
35.
dndnd
YWl ? |0
Y |-o| &
& B #H ¥
(A (B) <) (D)

36,

1] 5] [Z]

5TM-1-2018-19



Directions for question number 37 to 39 : gq Qe 37 g 39 CIE FENRITRT

fdentify the figure from the allernatives that ﬁﬂﬁwmmﬁ'ﬁ’m&?ﬂf
completes the patiern

37. 37

o R
SR | D

(12)

(A} (B \}jﬁ (D) w ®

M

il}-

(# (B) ) (D) (A) (B) () (D
39, 39,
¥ % = &
215 Pl
TN " \
% Pl Ay
)
? \ ?
_'_L | o
(X] (X)
| y =T 7, [
JF ]| PIFIF)E
~ = e ] | W5 i = 5
(A) T j’DJ (A) (B) (C) (D)

STM-1-2018-19 B-13



Directions for question number 40 to 42 : 99 el 40 § 42 IS FEEQIRF :

Witich alternative will replace the question mark 7 | 606 G996 DEh g g9y 907 fee 7

v
40, gﬁ\% "'>:Iﬁ, 40, %1%

(A} 33 (A) 35 (B) 37
(C) 45 (D) 47 {C) 45 (D) 47
41. 41.
‘EI. 6 9 3 /5 /9 -
15 7 15 \ 31 .\ ?
27 Rl 27 36 &1
(A) 45 (B) 41 (A) 45 (B) 41
(C) 32 (D} 40 (€) 32 (D] 40
g
N
/
10 16 15 10 16 15
42. 11-(:{)-15 11-(‘_11;-13 11{-:;}23 42. 12{:‘;—15 12228 H—(f?}:fj
3 20 16 9 20 13
(A) 11 (B) 14 (a) 11 (B) 14
(C) 10 (D) 12 (C) 10 D) 12

B-14 STM-1-2018-19



Directions for question mumber 43 to 45 ;

Answer the questions by using the follouring

digram.
M —— School student
PlO|N +—— Actress
W
Q.
5 +—Dinger
43. Which of the following represents those

school students who are singer but not
actress?

(A) M (B)

) O oy P

44. Which of the following represents those
school students who are ac but not
singer 7
(A} M N
(SIS (D) R

45. Which of the following represents those
actresses who are neither singer nor school
students 7
) N (B}
i<} Q D)}/ R

STM-1-2018-19

g9 T 43 G 45 QIS eI :
e BN BRI (6 PR B8 61/

43.

45,

M +— School student

PO [N
Q |R

& ————— Singer

H— Actress

Bt erwe Qe 6 EQFIER B B QIdal
@ PRiERE R 7

(A) M (B} N

€ o D) P

Bl SR AIdel PERIR BRIERE! 26 9R B9
qgra 7

(A) M
) o

B N

(D) R

BaGl PET Qo 60 FAFIER FRER PRIERET:
ol U9 @ B 0ES 7

(A) N (B) P

<) Q D R

B-15



Directions for question number 46 to 48 :

Study the following dingram and answer He given
queshons,

% 9

46. How many boys are both athfetic and
disciplined ?
Ay 1 2
) e (D) 10

47. How many girls are both athletic and
disciplined
(A) (8 3
(€} & (B) 2

48. How many Poys are neither athletic nor

disciplined
(A) T B o
<} 3 (D) 2

Directions for question number 49 to 51 ;

Chovse the allernative which resembles Hwee mirror
remage of Hie given comibinaton,

49. 247596 2E
(A) BOST42 (B) 2% he
(C} ssvaea *\LP)}I;:EH!E
B-16

a9 e 46 G 48 TI9 FeSMIR
] RN BRCAR &9 ERRE G 80/

46, SEEEGE) JHGRR HEmIN B fEiWe 7

(A) 1 (B) 2
(C1 & (D) 10
47. Gmeeed) T8 G seiRIE G geee 7
(A) 0 (B) 3
(C) 8 Dy 2

48, GRERGE JE TR NG R/ Ethe © giw ?

(A) 10 (B) &

(C) 3 Dy 2
Q8 Qe 49 g 51 QIR FedaIee :
£ TEDWY e CEERS SRRree FRsg o'

49. 247596
{A) BO5742 (B) oaashe
({C) gateea (D) aeaves

STM-1-2018-19



50. UTZFYBKH
(A) HKaY4Sin (B} nL1s3A
{C) HKaAksLn (D) sTU
51. ANS43012
(A) AWSREDIS  (B) DEL2UA
(Cy S2HUAERDE! (D) rsOkEAWZ

Directions for question number 52 to 53 :

For each question, a word is presented in a code
larguage. Follow the same code and find He answer
from the altermatiivs bo replace the gueshion imark.

52. 1f BEAT : EHDW, then ROAD[7)
(A) SQCF URDG
(C) TQCF (D) URNG
53. If NUMBER : UNBMRE, then GHOST : (7]

GHOTS
HGOST

(A) GHSOT
(C) HGSOT

(B)
(o)

Directions for question number 54 to 57

Fill in the place of the question mark from He

ﬂ]'!'t'rrmm.f.-r '3'!.:!

50, UTZFYBKH
(A) HKgY4SLN (B) NISIASKH
C) HKaAesin (D) HAaYAsTU
51.  ANS43Q12
(A) AMBREDIS  (B) SIOERSMA
(C) 2HMAEROSE (D) reOMEAMZ

Q@ @ I 52 @ 53 TSl FERAITR :

JE6Ye G5 I9 9] AERFs RISEA gRg
FOIOIET | 68 HEISE FEVE GRET ) RTINS
AN GRE o

52. ©F BEAT : EHDW, 696@ ROAD: (?)

(A} SQCF (B) URDG

(C) TQCF (D) URNG
53. 9% NUMBER UNBMRE, 6867

GHOST : (7)

(A) GHSOT (B) GHOTS

(C) HGSOT (D) HGCEI‘L

o & 4

gq @ e 54957 Qi Gedaieet ;. x f
gﬁfﬁgﬁﬂﬁf@ﬁﬁwmﬁgmm;““m :

@ 9, 4 ;?9%:;'5 135, 7. 101f25 54. 9,45 45 675 135, 2, 101.25 é'ﬂf-? :a
\ (A] 99.75 33.75 (A) 9975 . (B) 33.?}“3_'-‘

(C) 13.5 (D} 40, {C) 135 (D) 403
55. ADbc, EHig, Ljk, 7" % @ 55. ADbc, EHfg ILjk, ?

(A} LOmnN MPno (A4) LOmn (B) MPno

(C) MNop (D MPon ""15- {C) MNop (D) MPon
STM-1-2018-19 ““ I--ﬂ}:ﬁ B-17
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56,

a2,

=

ZXU, XVS, 7, TRO

@ vigy @ TR

{C) VRQ )

A4Z, D7W, 2, 190, HZT‘d/ ]
(A) ESU (B 2T

(Cy HI125 (D) F11V

Arrange the given words in a meaningful
sequence and find the correct sequence
from the given altematives.

{1} Rain (2) Monsoon
(3} PRescue (4) Flood

(5] Shelter

(A) (1), @, (), @), 5)

@B (1), @) @), 6, ) \/
© @ 0@ 6.6

D) @), (1), @, 3, (5)

Directions for question number 59 to 62 :

Study the figure given below cavefully and ansier
the questions.

9.

What is the sum of the numbers which
belong to two geometrical H:E'ufre; only 7

(A) & (Bl-~10
(D) 30

(C) 20

- 18

76,

58.

ZXU, XVS, 7, TRO
(A) VTQ (B)
() VRQ

TRQ
Dy TVS

A4Z, DTW, 2, [19Q, M28N
(A) E9U (B) Gi2T
(Cy HI2S (D) F1v

fF SRaed Bdad ared 9nK SaNnIRe
Pl 20 gre'g o

(1) «d (2)
(3) @®a ()
(5) EngAgR

(A) (1), (2). (3) (4), (5)
(B) (1), {2), (4), (3), (3
() (2), (). (4) 3). (3)
(D) (4), (1) (2) (3), (5)

SR Gy
|

99 @21 59 @ 62 QI FediaIaT ;

TWMMMWWF
/

39,

ERed OO PIN5 FEER A8 TreNee:
Qg 5eeG 7

A) & (B} 10
<) 20 (D) 30
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60. If numbers in the circle t women,
then how many women arg’ there 7
(A) 20 (B 45
(C) 28 (D) 33

61. Whatis ﬂ:;iﬂﬁm humbers which
belong to thr only 7
(&) 27 (B) 162
(C) 648 (D) 354

62. . What is the product of the numbers which
belong to two figures‘only 7
t.ﬁ} 4 (B) 192
(C), 384 (D) 105

Directions for question number 63 to 65 :

In each of the following guestions, three stalements
e gioen followed by four conclusions nuribered (1),
(). (11} and (IV). You have to take the given
statements to be brue and then decide wihich of the
green conclisions logically followe from the given

stafemernis,
63. Statements : { o 74 Ar
Somé dogs are rafs. All rats are trées. Some

trees are not dogs.

Conclusion ; ‘4_
Al Some trees afe dogs

() Al dogs are trees-

(T} All rats are dugs.-#

{TV) Notree is dng:f

(A) None follows

(B) Only (1) follow

(C) Only (I) and (II) Follow

(D) Only (II) and (1) follow

S5TM-1-2018-19

60, £F OFl FANGR AR ToMEEE FRRIFIRG oei,

ERER SRR SRERRE FIER ERG 7
(A) 20 (B) 45
(C) 28 (D) 33
61, S@en SSEIT WARe SRR 49 TeNgRRe
PR SREE 7
(A) 27 (B) 162
(C) 648 (D) 54

62, GRER QRT FUNTE TE5R A9 CENETAS
REIIR 6966 7
(A) 64 (B)
(C) 384 (D)

192
105

g QB 63 G 65 QIS FESMIF :
SR S06R 1 6N G SR i SaRT e (1), (1),
(1), &{1V) SSaeE Qugey O SO AR
SRTENR AN R Soeey g/

63. B G G AR BYS | 99 FEIFER 08 295 |
e OF fas aih |

dels:

() =& o8 g uewl

(1) 9% wes 98 995

(TI) @ FIEe Gipe 295 |

(IV) GalId 78 489 a5 |
(A} =R Qe Oq Red)

(B) swew (1) 9@ O

(C) &wew (1) & (1) 99 0x)
(D) Gwaw (1) & (1) S O

B-19



65.

Staterments i

Some tigers are lions. Some lions are
rabbits. Some rabbits are horses

Conelusion :

(I} Some tigers are horses
(I} Some rabbils are tigers 4
(I Some horses are H:rmf
(IV)  All horses are rabbits
(A) ATl follow

(B} None follows

(C) Only (1) and (11) follow

(0} Only (Ijand (V) follow

Statements :
Some trains are roads, No read is jungls

Conclusion :
() Some trains are flowers

() Some trains are jungles

(1) Some fowers :’V '
(IV) Noroad is flo

(A None follows

(B)  Only (11 follows
() Only (1) follows

(I Only (IV) follo

64. O GR oW T 509 | WE Ow 6058 2R
Wi 606 GG BRG]

dels:

(1) &6 0509 2G|

(1) ofid GO R BeS |

(1N @6k &9 Be |

(V) 2960 60qM 858 |

(a) 20daE D |

(B) o S8iE O g6t

(C) &2e8ma (1) ooe 0wl
(D) &9 (I 81V 8w OR)

65. G A8 6510 GISIBEE | GRIE e et AT |
R IRIER e |

Sans:

() @ sem Inaesl

(i) @B cem SR HeE |
() R R e aee |

(V) GHll€EE Gl T e
(A} 08 S5 02 35

(B  B2aR (I Qaw o=
(C) mees () @86 O
(D) B8 (V) ek O]
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66. A child went 90m in the East to look for
his father, then he turned right and went
2m. After this he turned right and alter
going 30m he reached o his uncle’s hoase,

His father was not there. From there he

How far did he meet his father
starting point ?

(A) 80m

(C) 140m () 260m

67. A clock i5 set right at 4 A
The clock loses 20 mun
What will be the

clock indicates 3

Sunday.
in 24 hours.
ot time when the
1 on Wednesday 7

(A) 4 AM (B) 5AM

) 2AM (D) 430 AM

Maya starts at point ‘T", walks strait o
point "L’ which is 4 meters away. She turns
left at 90° and walks to ‘W' which s
4 meters away turns %° right and goes
3 meters bo P, hurns 9° right and walks
1 mister to Y, turns left at 90° and goes to
"V* which is 1 meter away and once again
turns 90° right and goes to 'R which 1s
3 meter away. What is the distance
between “T" and “R° 7

(A} 4 meter

(£} 7 meter

S5TM-I-2018-19

66,

67.

64,

W

-

wed] Bai &' oieq st dg sofiea
e 6R0IE] 20796 §ISHR ORI A0k 4
iRl AWree fis awler 960 0sE e
Ol PIT| 69I01E] 100P6% GRS Sie SR
EaeImfl| BIRA QAT 6R65 QR0 96 O, &

GG G 7 aty
_,..-',1
?

(A) By 100m

140m 260m

1<) (D)

AT D@1 24 DEIEE 20 PNE DR FI6R
GEaE OF GhlE 450 98IRg 0e anase
Gretahal | R Selaie G5 DEHEES BRI 39
Tirie CRdaER, ORE QN8 R0 E0REE ?

(A} 4 AM (B) 5 AM

(€] 2AM (D) 430 AM

FIEY T QYR ISR &6 @20 4 Afa U adds
ol | 6€0IG, SR 90" 9F 4 FTR W adle
BRI Ga0IG) o0 fRNER Q8 T 9ale 3 Hew
ol 4 98 Haloe 907 9F 179 e asl|
Qdl QIR 900 98 1 Aa Vv cals asll
EEIREE RIS o0 R 3 fe 'R ol Wil
T @R FRNER Q5 6066 7

/,/’

(A) 4 FFs (B} 5 Aee
(C) 7859 (D} 8 gl
A B-21



69,

70.

B-22

L]

G
Vv “?w-

A

-

T

A clock is started at noon. By 10 minutes
past 3 PM on the same day, the hour hand
has turned through :

(A)] 1457

If Ax Bmeans A s to the southol B A+ B
means A is to the north of B; A% B means
A 15 o the east of B; A — B means A 18 bo
the west of B: then in P% Q+RE—-5,5is in
which direchion with respect to Q 7

[A) South-West (B) So

(C) Morth-East (D) North-West

Q
s 5
% [\

A watch gains 5 seconds in 3 minutes and
was set right at B AM. What time will it
show at 10 PM on the same day ?

(A) 10:27:41PM

d:l

¥ /o
(B) B:51:04 AM .

(C) 9:45:15PM

/
(D) 10:23:20 FMJ ;gr?

."JIQE f
% 78

S
3 -;t.#E)
¥

BY,

70.

a9

O FRNGER 96 D91 FIRE! TR al | Sean

DGR 5 96 10950 961 A9IT 660 G4
EiEl AEGH &59 7

(A) 145°% 150°

(B)

(€ 155° (D) 160°

a6 A x B9 Bl AB % 086 Donn B9ge:
A +B QB8 A BoGEE S06e Bge: A%
a5 A, B gF 0ok Bede; A-B o ad
A, B8R G086 BRe: 60 PR Q+ R -5

B% S, Q 6 68 S660 ol 7
(A) S88-087 (B) -8
(C) Gme-ge (D) Gen-adn

Eo¥E ] 241 3 PRTEE 5 50Gd B 1em Did
TFiR 89ee On OFe weueml| 65 @R aif
107156 O815'65 6R66 20 EDRge 7

(A) 10:27:41 PM

(B) H®:51:04 AM

{C) 9:45:15FM

‘im
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Directions for question number 72 to 75 :

Each of the questions below consists of a guestion
and two staterents mmbered (1) and (11} given
below it. You have to decide whether the duota
provided in the stalements are sufficient to answer
the question by selecting from the follotwing options.

(1) (1) alene is sufficient while {II) alone is not
suflicient

(2) (1) alone is sufficient while (I) alone is not

sufficient
(3)  Either (T) or (II) is sufficient =
i
(4) Neither (I} nor (1) is sufficient Q'L
7Y,
l-]..
72. Howis X related to Y 7 __F_E_,l

e
() ¥ and Z are ghildren of D who is

is married to Y's (ather

(B 2

(D) 4

73. How many doctors are practicing in this

wowwn 7

{l. There is one doctor per seven
hundred residents.

(II) There are 16 wards with each ward
having as many docters as the

number of wards,
(A) 1 M

(C) 3

STM-1-2018-19

Qg @EYl 72§ 75 Q16 FENAISE! :

FEER g56Y DEES R6T E6Y (1) (9(11) 66%) 955/
RG5! CEIENDRY MEMg SRR S0 QR SRR
PRa5R 906 CRTiy G8 !

(1) E@0R (1) 060M, G 650R (1) Ds88 a4

(2) sew (IT) 962, ma saew (1) 068 g6l |

(3) (1) @A (II) 5080 oeas |
(4) ()& (M) 500 06e8 Qe
72, X8 Y OWE ong a7

) YUZ D%ORIGEE DX GG

(I) R Q6 SIGET X, Y 95 QIO 00w #0Es |
(A) 1 By 2
<) 3 (D) 4

73.  DLGTE0 CREEE DIS6 RIF GRES 7

(1) QEaTss 700 6RISS AIF P64 SIS
o ]

QUNEEE 1o QITEE 1§ OU SreM 6O6E
gE Qifes 600N o Glam BEG |

(1)

(A 1 B) 2
© 3 D) 4



)

<

Among TV.BE and G, who is the third
from the top when arranged in the
descending order of their weights 7

(1)

74.

B is heavier than T and C and is less
heavy than V who is not the
heaviest.

(1)
(A) 1

C is heayler than only T,
&

oA
¥,
>

& o

A, B and C have money with them

respectively in the ratio of 5: 4 : 1 then,
how much money does B have 7

()

(B 2

(C) 3 (D) 4

75.

A has ¥ 48 more than C.

() The money with B is ¥ 30 lass
than A.
A) 1 2
(A) i f} o
© 3 4 2
W L4

Directions for question number 76 to 79 :

For each guestion, o word is presemted in a code
language. Follow the same code wd find the answer
from the altermatives.

76. I FRIEND is coded as HUMJTE, how is

(C} ESJFME

B-24

74. TV.BE B C 89007 Ba0 BRd6e 2Eag
G BPE0 ARIFER. SRR gea & elie 7
(l B&UeRTECog e dqvog
GF | V @REe Ok BER B9R ReF|
e, (I C609Q T Ol B8le Baei
L
(A) 1 (B) 2
o
<) 3 (D) 4
75. A, BUC S IRES LG OIG DREIS TEKR6R

5:4: 1. 65%9 B QIF6S fRE0 oW P 7

() A TS C OIg 48 o 2y 2iF |

() B EIGSE A 0I5 30 P! 6| B |

(A) 1 By "2

iy 3 (D) 4

99 Q34 76 @ 79 QIS FedaIoM ;

geeye gen 99 J0g 9EFe SIESS gere
FENENEE /| SO QRIS SRR ARG DY) SR
o/

76. 29 FRIEND g 968868 HUMITK 5818

BREEr, 6655 6 TERFSR CANDLER @)
BRI ?

(A) EDRIRL (B) DCQHQK

(C) ESJFME (D) DEQIQM

STM-1-2018-19



\

31 1| \_t
\ L a™ 1' b NH}“
5 ..-"'"H‘I.-" '9) ""1 b !
77. In a certain coding language. ﬂ%ﬁl 32 177, W T L ﬂ“ﬂ“G-DnﬂBEHE--W 3}
b 6 ?
Hsa:% 49 then SOME  will be equal 656% 608 GIBIES SOME = 5666 655 A ,
(A) 56 (B 58 (A) 56 (B) 58
(C) 62 (D) 64 | () 62 (D) 64
'1:4

"‘
Ao
78. 1f ROSE is coded as 6821. CHAIR is coded
as 73456 and PREACH is coded as 961473,
what will be the code for SEARCH 7/

(A) 246173 (B) 2

(C) 214763 (D) 216473

- L{?—

N g
V.

a certamn code, “247° means ‘spread red
carpet’; ‘256" means ‘dust one carpel’ and
"234° means ‘one red carpet’, ch digit
m that code means “dust” 7
7 I S

F;

© 5 / (D) &
4

Diirections for question number 80 to §] :

Select the wwmber from the alternatives fo Sl wp the
question mark(?) in mumther series,

& .:lf' - 3 f "
80, 1, 3,2,11 11, 4,18 5.7
N> B) 11

) 23 (D) 29

b
s o)
B1. 7',&,’, . 100 9.5, 11, 10, 2, A2
"H—-_/'r\_/“-_)?

78, 07 TERESE ROSE § 6821, CHAIR § 73456
8 PREACH & 91473 5048 SRIEIQ 6550

Ul CEevER SEARCH ol 6maidle 7
(A] 246173 (B) 214673
() 214763 (D) 216473

79, I QUEAEE WEER 2497 88 ‘spread red
carpet; ‘256" & 82 'dust one carpet’ 8 ‘234’
@ B ‘one red carpet’, 698 SI9IEG s

e 2 dust ?
(A) 2 (B) 3
{C} 5 (D) &

g9 @8I 80 g 81 EIIIE? FeTaae ;
BT @ SO e a0k aRe ey

BO. 1,3, 263114, 18,5 7
(A) 27 (B) 11
(C) 23 (D) 29

Bl. 7,9 8.6 10,9 5, 11, 10, 7, 12
[4) 5 (B) 11
(C) 29 (D) 4

(A) 5 (B)/ 11
() 29 (P 4
STM-I-2018-19



§2.

83.

Count the number of triangles and squares
in the given figure

(A) 26 wriangles, 5 squares
(B) 28 triangles, 5 squares
(C) 26 triangles, b squares
(D} 28 trangles, b squares

In the adjoining figure, if the centers of all
the circles are joined by horizontal and
vertical lines, then find the number of
squares that can he formed.

(A) 6 B 7
(C) /8 o) 1

How many parallelograms are there in the
following figure 7

L - ///

{B)
(D) f 30

() 24

B - 26

sen Bioaie 6066 SOF @ TGS TH 2aR
oa|

e

(4) 26888, 598
(B) 28 TNR 5 TLHP
(C) 26 BYF. 6 VEEF
(D) 28 8R)F. 6 7499

§83. FFTEET DRTON 98 NN ERERRrIR 899

&R B BIRGFS QeGSR FIRSERI Sriqaas
TECID a5m 698 T6T ERERIT SUEET g
REG @ |

(A) &
(C)

® 7
o) 1

FiF] 6% SaEE1R SRRTREER B ?

<y 29 (D) 30
STM-1-2018-19



B5. Based on the given positions of the dice

86,

B7.

STM-1-2018-19 x N

find out which number is opposite to 3,

@@/

{A) 1
) 3 (D) 4

Based on the given positions of the dice | 86.

find out which number is opposite to 2.

Based on the given positions of the dice | 87,

tind the number of dots on the face opposite
to the face with one dot. ‘\

(A} 2 (B) 3

() 4

D) &

T4

85,

RESRIEE ERdnie PRggRy Soned 35

PRGE 06 twel oo B8 Oda aal
(Ay 1 {B) &
{C) 5 (D) 4

RESEITE (RIaRde aegLie Somes 26

SORNe O5R 6RE e BB A eal
(1) (it} (i)
(A) 6 B 5
) 3 (D) 1
RESEIS SR BegRRG SoInaT sa1e
PRED EX1R SRS 06 smee1T Sy BE fda
well
(i) (ii) (idi)
(A) 2 (B 3
(C) 4 (0} 6

—



gocs:

Directions for question number 88 to 89 :

Fill ru the Bonks am the letder series.

B8, xy_z_yryr_py_yis __y;:p.l
(A) :pr\U//{E} yxyzx
{C) yvxzpx () zyxpy
89, aab_aa_ bbb aaa _bbba
(A) abba baab
() amab (Y abab

Directions for question number 90 to 93 :

Each of these questions is based ont the infornution
given  § person E. F, G H LI Kand L are sented
around @ square table - two on each side. There are
3 ldles who are not seated next to euch other. [ is
between Loanid F q’,‘ is betueen | amd F. H, o lody
meheher ts second o i left of |. F. o male’ terler

is seated opposite to E, a2 lady measher. There 154
lady member between Foand L

90. How many persons are seated pftween K

and F 7
(A 1 y 2
€y 3 (D) 4

91. Who among the following
members 7

thres l:'ld}"

LK
e

Q9 Tewyl 88 g 89 a1 FeAIea -
YR I gvge gy R e/

BB, XAz gy NEpAOIEPX_RIPY

{A) tpzxx {B) wxy=zzx
(C) yxopzx (D) zyxpy
§9. aablaasbbbasankbbba
- (A) abba {(B) baab
(C) maab (D) abab

| gg aai 90g 93 019 Fedaiam :

o6 B 7 FRIGER G5 BRI (E, ¥, G, H,
] K B P18 6] 6% O DRl SRR B
O P G e OGES | ESFIRE FRAEES Ml
T orse e ARl ], | OF & ATER uRs/
G. 1 OF @ Fe eS8 H, 60 wee] e | @5
SFIESE SETE gReE PGEE [ F, AP o] 6T
ake e SonE g8 eeEn F 0| &AM
P E QEiRn

90. KWF @ FIT60 caaowd SREg 7

(A) 1 (B 2

€ 3 (D) 4

91, GEFlRe FRMSE SReE FER GREFEE !

(A) E HG]J (B) EFBG
(€} EHBG Dy C.HE]
fgﬁf

l,u,.ﬂ—"

%, v STM-1-2018-19



92. Who among the following is to the
immediate loft of
A) G B 1
<) Dy H
93. What is true about | and K 7

(A) ]is male, K is fomale
(B) | is female, K is male
(C)  Both are female
()

Both are male

Directions for question number 94 1o 98 :
Which alternutive will replice the ueston rark 7

94, o W
T s
4% W3 1570 %
I 0 |7 1.
T G Yo
(A) 5 A 9
© 11 @) 13
95,

27]25) (45
2

()
(C)

(B) 32
(D) B0

S & 10K
NN

S5TM-1-2018-19

92. Go%R F 9% 08 SFDEe B edes 7

N G
(S|

(B} 1
Dy H

| BK & SBa5G ond amis a6y 7
(A) JSEEEK MR

(B) JAERIAKQnE

(C) w8 rEw

(D) w9

3.

99 QU 94 g 98 OIE PEUEIE! ;
GEEE PR6a 6ae Taed ale 7

94. T g

W >y 15 D

| mw |7 P
T G

(A) 5
<) 11

B o
o 13

e

()
(C) 52

3.

(D] 40

(40) (10)

96, 2533

%) 3

B) @]7]s

5

GEH D

&

(B) 32
(D) 60

(A) 36
[y 30 i

L2



s
w
(A} 5
[C]E {D]'?

ﬁPA 5 w2

98. St 4
TR it
\ AL
(Ay 2 2 @r
: g
c) 7 (D) &

99, If "+’ means’'<=’,"+" means '—' '—
means ‘x', ‘x’ means ‘+'. then
124 6+3=-2x8=
(A —2 (B) 2
C) 4 o) &

5 2
r:.-r

100, If * +' means ‘%", "x' means "=, "+’
means '+', ‘=' means '+", then
175—25 + 5+ 2% =7

o
(A) 7 (B) 160
(C) 240 (D) 2370
- o=
4 R0 —20

9.

100.

67 B
. TR -
B 9
@ @ ® @ € @
63 37 &)
3) (4) &
(A) 3 B) &
(c) 8 (O)
(A) 3 (B 2
<y 7 (D) 6
Eﬂ”+'ﬁtﬂ'1’.'+'ﬁﬂ’—'.’—"ﬂ'ﬁﬁi
rxf, 'w! & B8 ‘47, 9 6O6@,
1246+3-2x8="7
(A) -2 (B) 2
<) 4 () 8
g ned x xrand - e and
= o+ 89 69ER 175-25 +
S+20x3+10=7
(A) 77 (B) 160
(C) 240 (D) 2370
~ollo-
STM-1-2018-19



Booklet
RollNo.:|2|2(1(9]1 [a] ¢l quf2]y sine: 65828
Time : 120 Minutes ana 1120 Fig
Full Mark : 100 STS - 2018-19 [ETEN : 100
No.of items  : 100 PAPER - Il ﬂﬂﬁ : 100
No. of Pages ;32 = g3 132
{including rough work) EET A r
INSTRUCTIONS TO CANDIDATES onisie o Bedaiem
Read the following instructions carefully before 09 0 suEe! s fedaem Qi MRS o |

you open the Question Booklet :

1. A separate OMR Answer Sheet is supplied
for writing the answers. Write down your
Application Form No. & 11 digit Roll
Number on it as per your Admission Card
and darken the appropriate circles on the
answer sheet.

2. Check that Set Code (A, B, C or D) is printed
on the Booklet and indicate your set code
by blackening the appropriate circle in the
OME Answer Sheet.

3. Do not write anything in this Booklet except
the 11 digit Roll No. However you can use
the blank pages provided for the rough work
at the end of this Booklet.

4. Start answering when you are told to do so.
Do not tumn the pages before that.

5. Answer all the questions. Each question has
tour probable answers of which one is
correct. You have to choose the correct one
anud blacken your choice in the OMR answer
sheet by a black /blue ball point pen. Use of
pencil is not allowed. If your choice is second
response then answer like this,

=
OF NERG)
6. For wrong answer, there is no deduction of
marks. One mark shall be awarded for each
cormech résponse.
No mark will be awarded for a question
if a candidate darkens more than one
choice,
8. Return the Answer Sheet only to the
mvigilator as soon as the final bell rings.

9. English version of the Question Paper will
be considered as final if any dispute arises
in the translated version.

T. S99 SRS o9 484 BRe OMR 86 RN
FHONE | cOREs 6 BeRNn GIES SReL
ORI IF RAR T 9N Be ST SAIR PRE
GRE 45" GRS T SIS ERERRE §F Fal

9. GF Of YOiEN 699 68p (A, B, CER D) &as
88 G AT OE KI5 9 9F6 655 et 958
e Ofel (OMR) a9 odea 60gs cREaaly
&R 88l

7. G6iR ARG S4ete BN GE 48 QBRieR SR AF)

O 6T w7 el G09 RIPER BT B8 GFIaR

¥, GHEFEPSR QOO RN 609 B9 69 gy

T8 e REE A
QFT e SIS S8 | JECHR DR TERIT SRS GIR6

SEIERE | SalE) eI el OR e | OR aaed
@i OMR Q9968 49 fReRads &7 &9
QA YR F ¢ SROYE EER WIRTIR
FogRl COREq eRe SGuEe afl o9
REF B8 FA ERicRSY Fe B89 a1E 91 -
TIR GRER 905 F59 Sl

OF _JCRE

2. geede OR aae Oid 98 ARe faide] gR eRe
o ARG eele Al

9. 6AIE g Qs oF sa1Fv6 248 sHIsRE FR
P8 SIDERER 65108 rre Sade ail

©. 689 94 <@ @8 eeew OMR A aee
Roraeg @E|

¢, GHE AgRINER cPd TR WTRIE RIBIS
Readig Fdas 69 @

ASK FOR ANOTHER BOOKLET IF IT 1S DEFECTIVE, BEFORE YOU START ANSWERING.
gfgR g R aea 609 Qig eoaia a1
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A ballon starts rising upwards with
constant accleration "a” and after "ty
seconds, a packet is dropped from it which
reaches the ground in 't seconds, The value
of 't is:

[ |'_

aty | E
=14 [1+2

() El : “J

ay L8
1) = e
1
ag| § |2
& o
i
(D) E!lml

Three balls are projected with same speed.
Ball A is thrown vertically downward, ball
B is thrown vertically upward and ball C
is thrown horizontal, t,, ty. t. are
respective ime taken by Balls A, B and C
to reach ground. Find the correct answer

from the following choices.
B
L
A
(A) to=t,+1y (B) to=EAtp
[c} tl:-t,l.-tﬂ ‘_D'j lL-tﬂ_htH

STS-11-2018-19

GURA OF 5 a' BB GEe aleIg BIe &Rl
99" 't 69564 DR 98 THERT E9RRPE SR,
2l 't GREME D65 ENERT T SF1R 68WI L 'S
File GEGIR

atof 1, 1.8
{-‘ﬁil 2 :..]+ I+EI.-|
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ARG Ge FEED el 18" 8 'C'y
RIAIHT SIET TEET GREIRIT £ 1y, by I
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e, 6R6Y F6F)IS Ge6l arae O |
B
c
A
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(C) o=t -ty (D) te=t,—2ty
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The velocity ~ time graph of a particle
moving along a straight line is shown.
What is the displacement of the particle in
& second 7

(A) 10 m (B) 14m
() 12m (D) 20m
4V 6V
AI 'Illllm* I| - || Ilﬂﬂﬂ*
| in | B | 'i2g
AMAAM
40

In the circuit shown, potential difference

between A and B is :
(A) 44 valt (B) —4wvalt
() —4.4 volt (D) +4.4 volt

In the given circuit, what is the eguivalent
resistance between A and B ?

20 21) 20

W— WA
1001 1001 1311
an 20
(A) 100 (B) 210
{1 5N (D) 30

A-4

4.

TREes 9Be 9Pae Uheen 9 ~ QIT Qs
e HIRIE | 9260 SEWE 95 ORTIERSIER 95
@R | 16 SFOR 6 second 56 FE0A &4 |

(A) 10m
(C) 12m

(B) 4m
(D) 20m

4% a6y
A—emu—l}—.—,:—.\wa—
11 B 120

41}

GOESID CRIDH TEER A 16" B ARG BOv
SR R90d ae

(A)  +4 volt (B
(C) —44 valt (o)

—4 valt
+4.4 vaoli

FEFI® DE08 FE50 A 96" B FRER 594%
DRI 6666 629 7

21 20 20
Wi
100 100 130
WA——
an 20
(A) 1011 (B) 20
(C} 50 (o 3n
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The electrical properties of copper and
rubber are different because :

(A)

(B)

(<)

()

The positive charges are free to move
in copper but stationary in rubber,

Many electrons are free o move in
copper but all electrons are bound
to molecules in rubber.

Positive charges are free to move in
rubber but stationary in copper.

Many electrons are free to move in
rubber but stationary in copper.

Which of the following are true ?

(&)

(i)

(i)

(iv)

()

(<)

A moving charge produces magnetic
field but no electric field.

A moving charge experiences force
m magnetic field but not mn electric
field.

Magnetic field inside solenoid is
umniform.

Magnetic feld lines are always
closed.

{i) and (iv) {B) ({iii) and {iv]

{£) and (iii) (D) (i) and (iv)

STS-11-2018-19

GRI " GE0R EREHES D45 BRI, RIndt-

(A}

(E)

(<)

(D)

Sl & T 99 R GISD R R6E S5
FGRET SERER &8

SAKR PLF SERER R RIET §F
&af, T8 9060 SERETAFISH
BEFIRer O Bl

e 7id 0 IPRen TP F5 66
bl ey

QREEE OLF SERRER AR G SRIES
ey

REFTD FRi) 660 0R

(i)

(1)

(i}

(iv}

(A}

(©)

% BRI G1 SRMA 68E 996 ara R
ERUYET 66 U5 G60 A |

A5 SRS QIF SRR SRPEG OF BRSe
REG B P 6BR6R REV
ARG FIRISE: 9 PRED QR EBY
AFRIFIEEE Bae |

LRFIR S8 ERIR 6REE BRA FR)
N8R

()9 (v)  (B) (i) 99° (i)

(i) 99" () (D) (i) 99° (iv)

A=5



LIR

A 500 W bulb and a 500 W heater operate

al their rated voltages. Which of the

following is true 7

{A) Filament of bulb reaches a much
higher temperature than heater

{B) Filament of heater reaches a much
higher temperature than bulb

() Both Hlament
temperature

() Nothing can be predicted.

attain same

HKHHHKH.#HKH?:H?FHK

_:a'. 3 3¢ (:-::)‘J ® ﬂ;{ *
Ak e e

Sl B

{i) (i) fifi}

Each structure carries same current 1, in a
transverse magnetic field. which is true 7
(A) (i) and (1) experience same force
(B} (i) experiences largest force
(C) (i) experiences minimum force
(D all structure experience same force

Conducting
ring

The direction of current in the conducting
ring after the switch is closed for a long
e

(A} Clockwise

(B} Anti Clockwise

()  No Curtent

(D) Can't be predicted

e

2

| ——
E

A-B

10.

9 500 G 99 99" 99 500 91T Tow 9f

G SQue SRDee BEG | CeFe fug

el O |

(A) RPS TED TR 99 TS B9 0
B SHOIFIIG G G |

(B) UeoQ €°gs OIf ORe &6 O Haa
FIOFIRER SR |

(C) Ged I8 &6 9AIR SIaneIss
GEER |

(D) &8 2RAR 26 606 Q|

A A A e B

1
A B
?{H o B o
e e b i e i
WO MW MM MMM MMM OMOK

(i} (ii) fifd}
EFE e 98 GRSIN BREEE SRR S9N 1,
ReRs 99ES | Ferle g seel Oq ?
(A) (i) and (i) QIR @R BEES 0
(B) (i) Dk o0 BRRG 260
(C) (i) 26R¢] 99 BASR @30
(D) @9 TR IR 06 BRES G5

_OI0000 0
il

FOERNE FRG6 JuT PEE DFA 90 600 O6%
GRIEN JERINE! PREGT §Qu 59IF6 0 Héa
&l

(A) GEnsEeh

(B)  QIFtesH

(C)  Bqu ofieen 600 pil

(D) @80 cee Al

KK

Conducting
ring
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11.

12.

13.

14.

A drrular coil 15 entering a magnetic field
as shown. What is the directon of induced
current 7

XXX X XXX
XVX X X X
X X X X X
XX XXX XX

{A) Clockwise

(B) Ant Clockwise

(C) No induced current

(B} Both clockwise and anti clockwise

An air bubble inside water will behave
a8 :

(A)
()

Concave lens  (B] Convex lens

Plane mirror (D)} Glass slab
Formation of virtual image is possible in :
(A} Plane mirror

(B) Concave mirror

(C) Convex lens

(D) All the above

What is the molarity of the solution

prepared by dissolving 4 gm of NaOH in
water to form 250 ml solution ?

(A)
(B)

()
(D)

1.0m
D2 m
04 m
004 m

5T5-11-2018-19

11, GRSl Swe DR 68T FriEs PRRee

12,

13.

14,

DRE EoN SN0 SO0 Se S U9l 4l
il
XXX X X XX
XVX X X X
XK XXX
XXX XX XX
bt T
o Tl

EEATE EEE TOYe 6TIR BR
e cBaeeh 9 erlieel

()
{B)
(€)
(o)

O BEEG 61 S ETITRIS DR Gk cukl
e 7

(A) BRSRERG
(C) PEwE0a

(B) G868
(D} @Ie &

Bligia QEER Giwel GEGER DA
(A) FeF oD
(B) BRORGEE
(C) Gawodd
(D) Waes aRE

4 S NaOH G660 Q0 6218 250 ml 9941
96 62l | 95 096R IR PES6 6966 659 7

{A) 1.0m
(B) 0.2m
(C) D4 m
(D] 0.04 m

A-7



15

16.

17.

18.

19.

Which of the following is an acid 7
(B) NH,NO,

B (OH),

(A) NaOH

(€} Mg {OH), (D)

Which of the following reactions is
displacement reaction ?

(A) CHy+20, — CO, +2H,0
(B) Crj0,+2A1 = ALO,+2Cr
(C) ZH,O4 — 2H, O+,

(D) P,+NaOH — PHy+NaHPO,

Which of the following element react with
oxygen to form a compound with high
melting point, which is soluble in water ?

(A) Calcium (B) Carbon

(C) Silicon (D) Iron

Which of the following is main ingredient
of Biogas and CNG 7

(A) Ethyne (B} Propane

(C) Methane (D} Butane

Which one of the following is functional
group of propanone 7
(A) Carboxylic acid (B)

()

Aldehyde

Ketone (D}  Alcohol

15. AERRS FRIE S06R 96 B BEG 7

16.

17.

18.

19,

(4) NaOH (8)
(D) B (OH),

NH, NO,
(€} Mg (OH),

AR SR 96 SgUR ORI B5F

(A) CH,+20, -+ C0,+2H,0
(B) CryOy+2Al — ALO,+2Cr
(€) 2HL, = IH,0+0,

(D) P,+NaOH = PH,+NaHPO,

AR swe 6FE BRRG 98 QEGal a6
6ETd GiF awAIe 809 Ot 9F a5 | 4

Wbl DT

(A) SRS (B) @R

(C) Qe (D) EgEs
AFRTE SR ERREHE 3 CNG 6 FEN GEaaR
i 15

(A) QLR (B) &5IEUs,
(C) Peai, (D} g6E%,
STIDERIRET L1 AFR gaf a'a 7

(4) S6CEORG D, (B) HRGHGE,
{C) @Ewa (D) Bl

5T5-11-2018-19



20,

21.

22,

A free electron at rest which is far away
From the nucleus has energy valuoe :

(A) Zero

(B) Infinite
(€)
(D)

~1312 kJ mol~?

—54.380 eV.

The by product of soap industry is :
(A) Glycol (B) Glucose
(C) Glycerol (D} Ethanol

Reaction of water with aluminium carbide
gives a colourless gas, The gas is

(A) Acetylene (B}

(D)

Propene

(C) Propane Methane

The electronic configuration of an atom is
2, & which of the following element has
similar chemical properties with it ?

(A} N (B) F(9
(€) P (15) (D) Ar (18)

The isotope of which element is used for
treatment of cancer diseases ;

(A) Uranium (B) Cobalt

(C)  lodine (D)  Chlorine

STS-11-2018-19

21.

22.

23,

24,

20.  FIFERE0E 996 GEI66 461 T8 BERmERE 6

FEFliE Pl GRe B6E |

(A) a4

(B) BORGAR

{C) —1312k] mol !

(D) —54.380 eV,

Qg SREE HOME ERELE DO 66E 7
(A) e B SFe
(C) SRR (D) 2w,
BIRFIRAR ldiee 9967 Al RERl 6% e
Sonl SN 98 @60 7

(A) 4G (B) S@IEF
(C) 66ER (D) FseR

671E DEFIER SERRER THROR! S06H 2, 8|
9% Fene sed ARG AaBhe du 99
AN ale 7

(A) N@ (B) F(9)

() P15 (D) Ar (18)
GHIRCE GRITR ST TR Fer)s 66 OeFlEe
SIJRE SNERIR SERDN 7

(A) SRR (B) EWiERE,

(C) BIEUER, (D) 6efei,

A-9



25. Composition of Synthetic gas is
(A) CO+H, (B) C+N,
(C) CO+CH, (D) CO+N,
26. The alloy containing a non-metal is :
(A)] Brass (B) Bronze
(C) Steel (D) White metal
27. Organisms which use energy from
Imorganic source to prepare food are
callad -
{A) Autotrophs
(B} Syntrophs
{C) Chemotrophs
(I  Heterotrophs
28, Orange colour pigments which participate
in photosynthesis indirectly are called :
(A) Carotene
(B} Chlorephyll a
{C) Chlorophyll b
(D}  Phycocyanin
29. Which of the following is a
semi- aulonomous organelle with genetic
material of its own 7
(A) Nucleus (B Vacunle
(C)  Golgi (D) Chloroplast
A-10

26.

27.

28,

9.

EaER TR TR 56|

{A) CO+H, (B) C+N,
(C) CO+CH, (D) CO+N,
ERIT Bkl St Figiiiy GRad:

(4) Ter (B &<

(C) we (D) BTTG

BEETR D0ile O fRG G0y 99 @98e
wIRFIem SOGES -

(A) SN
(B)  Adae
(C) e=sam
(D) O8ERT

TEEIE SIDES BIERIG SEqDd qRss auia
*0f GO a0 edasl § cunE

[A)  SIESIER

(B sgEwEw
{C) SRERITRT
(D) Tesa ARG

PoREe fRe BEOR ERRIE Fea mrerle
FEIGE 2 ?

(A) @48 (B)
() oR@

Qrdat
(D) w66 RO
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30. Which acid is present in tamarind pulp 7
{A) Oxalic Acid (B) Acetic Acid
(C) Tartaric Acid (D) Tannic Acid
31. Under which group are diatoms
included ?
(A} Monera (B}  Protista
(€} Plantae (D) Animalia
32. By whom was dark reaction of
photosynthesis discovered ?
(A) Calvin (B) Hill
(C)  Johnson (D) Mitchell
33. Effect of duration of light period on
flowering is called :
{A) Phototropism
(B) Photolysis
(C) Photosynthesis
(D) Photoperiodism
34. lelly fish is included in which phylum ?
(A) Cnidaria
(B} Mollusca
(C) Echinodermata
(I Chordata
STS-11-2018-19

3.

33,

EERR G6R bwe B a1 ?

(A) Deghim B (B 4N
(C) TS &) (D) 9o
GIGEICY) Bl GEIEER Saejs 7

(A) EFERa (B) Ggoe

) 959 (D) BFEE
BIGRIE YRR D8R Dndl ARG gy
GRS 7

(A) @SSR, (B) &S

(C) Wi, (D) Pt

BN N 99 GreR Bninieet Oeiee
NG GRIENY, SIDI SERE

(A) BlERIGROEE
(B) BISRISQE 85 SSiee
BISRIG G4]E

PRl Fiae

(€)

(D)

Bt P Bl D065 BRNE 7
(A) e
(B) ser
(C) eany

(D) GFeesl

A-11



35.

37.

38,

What is the Chemical nature of Chitin ?
(A} Protein
(B)
(€)
(D)

Lipid
Glycoprotein

Carbohvdrate

How many ova are produced from

30 primary oocyte ?
(A) 30 (B) 100

(C) 200 (D) 300

Which hormone is present in the urine of
pregnant women 7

(A) ADH
(B) CGH
(C) FSH
(D) IOSH

Who started Appiko movement in 1983 7
(A} Sundarlal Bahuguna

(B)  Amrita Devi

(C) Medha Patkar

() Fi.miumng HEng'

-12

35.

3b.

ar.

as.

mﬂiﬁﬂﬁﬂﬁﬂﬂ?
(A) 89

(B) &%

(€) FessHegee,

(D) 669

508 Defle TR 5RIT6 656eT SRIe 9F
6LIG2Iq P
(A) 50 (B) 100

(C) 200 (D) 300

ReeT FIEM FIREE 6R6 PRsFIR SRe 7

(A} ADH (9549
(B) CGH (@899
(C) FSH (9rages)
(D} ICSH (s @ 0g %)

1983 661 G BITER PEERIRE PISR GETER 7
(A) TRERIS FEREN
(B) ERleYEEe

(C) &FR w6

(D) e ERsEg
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39.

41.

Which of the following statements is
correct 7

{A) Cockroaches respire by gills,

(B} lan Wilmut was awarded Nobel
prize in 2010 for IVF.
(C) Hepatitis-B is infected by water.

(D) White leghorn lays highest number

of eggs per year.

Which of the following cell organelles is
non-membranous 7

(A} Mitochondria (B) Ribosomes
(C) Golgi (D) Lysosomes
What is the sum of
. - , 4 1 +....+ 1 g
1x2 2x3 3x4 99100

o
(A) Lﬂﬂﬂﬂﬂﬁﬁ

a9

100
(C) More Ihanﬁ

10
(D) Equal o

STS-11-2018-19

40

39.

41.

FEFIS Sad aSF 0R 7

(A) BERSI SR QIR ARl TURE F55 |

(B) SRR GBRAT 2010 68 IVF ikl SRIETR

e mes |

(C) GO - B eRGE Tefe 4]

(D) &9 sneed ag FdncR 290 BEG
Bl SEEl |

FERID 6Rd 6018 Bohal ERReR BEC 7

(A) FARERdn (B) SiEEIFY

(C) SeIRE (D) mEARFAR

1 + 1 + 1 e 1
12 2x3 3Ix4

7
00100

QG GeeE 7

99

(&) 7pg LR

99
(B) iﬁﬁiﬁiﬂﬁ

100
C o Ol =%

(D) o5 WHR



43.

46,

What is the ascending order of the surds

2,03,
(A) 93,93, %2 (B
) 2,839 (D)

Ve, 32,93
Y3, ¥4, 42

If 5 3x3 22~25295, then what is the
value of ¥ 7

A) 3 @ 2 O 5 (D 4

I (5x?+ 14x+2)2 - (4x2-5x+7)% is
divided by 1241 +1, then the quotient s
q" and the remainder is 'r', what are 'q’
and " 7

(A) gq=3+9x-5, r=0

(B) q=9(x*+19x-5), r=0

(€) q=x'+92-5, r=1

(D) q=9(x2+19x—5), r=1

The speed of a boat in still water is
8 km/hour. It takes 5 hours to cover
15 km upstream and 22 km downstream,
then what is the speed of the stream in
km per hour 7

A) 3 @B 5 © 4 (M 7

An aeroplane would take one hour less for
a journey of 1200 km if it increases its usual
speed by 100 km/hr. What is its usual

speed ?
(A} 100 km/hr (B)
{C) 300 kmy/hr.

200 km/ hr.
(D) 400 km/hr,

A-14

43.

45.

3, 87, U7 NP Sronees oF an
SRe 7

(A) ¥4,46,.92 (B 1,342,875
0 ¥2,865,% (D) 635, 9812

85 507 x3 242295 g4, 666 ¥ @ A
5R6E ?

Ay 3 @B 2 (€ 5 (D) 4

a9 (a7 +1dx+ 22— (drl-5x+7)2 @
=41+ Q6 RIR GEISER, SINTW g 8
wIWEANE " 0, 6860 g’ &' 6RGE P

(A} q=22+9x-3, r=(
(B) q=9{x*+19x—5), r=0
(C) q=2"+91-5 r=1
(D) q=9x"+191-5), r=1

O PRI R D550 D898 sea 8 &.81

Gele O e gEqmea 15 &.0 8 egwa
BRRRsE 22 8.0 098 6F1F 5 9% aRa 4

EEEQ EDEE DUGE 507 6R5E &8 2

A3 @B 5 © 4 D 7

OF 97 RSN o8 GRia sol 991 gF
100 @.7 ofia G4 6068 1200 &.7 a5 e&e
Ul € 1 LM SF] OFFL RISS) | 6EEE SRR
DRIDE AYKTE 600 6865 7

(A) 100 &R (B) 200 &A
(C) 300 &5 Dy 400 &4
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47,

48,

49.

Rakesh has ¥ ‘2" more than Mohan and
they together have a total of T "y . Which
of the following represents the number of
rupees that Rakesh has ?

+x
@ 3

(& s

Taxl fare in a city is as follows: for the frst
kilometre the fare is T 500 and for the
subsequent distance it is T 5.00 per km.
Taking the total fare for covering a distance
of ‘2" km as ¥ 'y’ which of the following is
the equation that connects “x" and y' 7

(A

S +y+3=0 B Sx-y+3=0

(C) Sx+y—3=0 (D) Sx—-y—3=0

The areas of a square and a rectangle are
equal. If the side of the square is 12 cm
and the difference between the length and
breadth of rectangle is 7 cm, then what is

the perimeter of the rectangle 7
{A) 25 cm (B) 50 cm
(C) 75 cm (D) 112 em

STS-11-2018-19

48,

49.

47, GIERE CISISE GRIRE O “x' O B B 4

FI QRS T FIfl 'y | RRRRS PRI 656R
EGER TN 17

y"l'l'
[A) = B ¥y5

(]

© 53 (D) 2y-x

4w QEGER S4E €9 seal Qan 6.0 98
7 .00 3 20Re See Skl @.FL 95 T 5.00 |
2% #0an Fhae e ' mAL NIE o e
'y §4 6668 AT 6RER X' 'y 9RRY
e 60 7

(A) Sr+y+3=0 (B) Sr—y+3=0

(C) Sx+y-3=0 (D) Sr=y=—3=)

n GoleEn 96F U5 BERESRRG FERTR SR |
PeleREe CRIT SIge ST 12 698 W
PIREEELE 6RN 1 999 O8N 7 6P | 6069
e CETG DFEK 6R6e ?

(A] 25608 (B) 50 6%.A
(C) 7564.R (D) 112 6=
A-15



50.

51.

52.

33.

If 'm’ times the m'™ term of an AP, is equal
to the 'n' times of the n™ term of it, then
what is the (m +n)™ term of the AP ?
(A) 0O (B) 1

<y 2 (D) 3

How many 3-digit numbers are divisible
by 7 ?
(A)

()

124 (B)
120

128
(D) 126

I[f cosecl —sinB= |, sech—costl=m, then
what is the value of Pm? (24 m?+3) 7

(&) 1 (B -1
(c) o (D) 2

Ranjan purchased 120 reams of paper at
¥ 80.00 per ream. He spent ¥ 280.00 on
transportation, paid octroi-tax at the rate
of 4 paise per ream and spent T 72.00 as
the labour charge. If he want to get a profit
of 8%, at what price should he sell the

paper per ream 7
(A) T Ba.0 (B)

(C) T BB.M2 (D) T 90.00

T H7 48

sinf—2sin A 5

2cos” 6= cosh
(B)
(D)

What 1s the value of

(A)  coth tand

[} sech cosech

A-16

50.

51.

5.

a3

54.

26 95 AP, 8 m 7 998 m 9L, W5 n 0F
9% n 6 IR SR §9 565 aB AP, @
m+n 5% 968 BREE 7

(A) D (B) 1

<y 2 (D) 3

RERIE B8 Be 0TS Cronl 7 Qi TeEeN 7

(A) 128

(<)

124 (B)
120 (D) 126

A cosech—sind =/, secd—costl=m 89,
S06% Pl (B4 2 +3) B AR 6666 7

(A) 1 (B)
€ o (D) 2

=3

BIER, GIF 98 T 80.00 9868 120 §A @98
=681 | A SR QIPDER T 280.00 1 SR 98
Bgie e 9eeq B 08 40 099 BA1968 S0l
8 QEQ T 72.00 AIQS cawl &R 99 eREe
SIF6 OF1E @itk 55 F6R 5T 8% SIS TIRe 7

(A) ¥ B6.00 (B) TH7.48

(C) ¥ B8.62 (D) ¥ 90.00
v

T2 0 o aIe 6ase 7

deos™ B = cosd

(A)] cotd (B} tan#é

(C) sech (D) cosechd
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55.

6.

A number is to be chosen at random from
among the numbers -3, -2, -1,.0, 1, 2,
3. What 1s the probability for the modulus
of the number chosen to be less than 2 7

(A)

=1|wn

3
® =

<) (D)

=1[t2

1
7

What is the difference between the mode
and the median of the data contained in
the table below 7 [

x |[5|6]7]8]92]10
fle1z[8j1a] 7 (3

55.

56.

Q8 -3, -2, —1,0,1, 2 3 T6H FiRe FkMg]

E0E 6E1EM Ereil Re 509 | 98 e
TEHG SRAAIR 2 OIF, @F 6EWIR QRRE

SRER ¢

~] |t

™ 3 ®

(C) ()

=]
=] =

R o4 6% SENRER SRIgR 8 FrFl
FIANEE ChERM EG66 7

r |56 F| 8] 9|10
F®[12[18|13| 7|3

Ay ® 2 @1 (O (A) 3 (B) 2 (© 1 (D) O :

F B

22 69, ol a1 991 e uwmm.ffé P
Em:ﬁa.ﬁmﬁmsaﬁﬂmﬁmqﬁ
-""':’-'fl" I\-E

57. How many spherical bullets of 2 cm | 57.
diameter can be made out of a metallic

58.

cube, each edge measuring 22 cm by G GG @Tla Gt 7 oL
22 o ‘
melting and recasting 7 [Take - asm] ['rr e =58 | £ &
| 7 7 4 e
(A) 5324 (B) 5262 (A) 5324 (B) 5262 A
© 2622 (D) 2541 () 2622 (D) 2541

Two nonintersecting circles have 15 cm
and 9 cm as their radii. If their centres are
30 cm apart, what is the length of their
transverse common tangent 7

{A) 1Zcom 15 cm

(€)

(B)

18 cm (D) 21 cm

STS-11-2018-19

RE BAERGT QR6 S4QT CoRE 15 620 4
4 5 51| S IREE SR s 956t 30627
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Stlee el BR6E 7
12 ga.f. 15 6Q.5.
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(B)
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(4)

(C) 18 €Q@.f.
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59. PQ isa chord of length § cm of a circle of

A1,

radius 5 cm. The tangents at P and Q
intersect at a point T. What is the length
of TP 7

A and B started a business with initial
investments in the ratio 14 : 15. The
mvestment of A continued for the whaole
vear where as after some time B withdrew
one third of his investment. If the profit at
the end of the year was shared between A
and B in the ratio 21 : 20, then after what
time did B withdraw a part of his
mvestment 7

(A)

6 months (B 7 months

(€} & months (D) 9 months

Tripartite or Triple Alliance was concluded
among which countries 7

(A) Germany, ltaly, France
(B} Germany, Austria, Japan
(L) Germany, Austria, ltaly

(D) ltaly. England, France

A-18

59,

61.

56aF Al §9% 99 9R0 FO o4 60
86971 | PR°Q OIF% &% I8k g aeesig T
OI561 669 @68 | TP € 696k 566 7

ot |

ed.

10
(A) '

w“j
m
m
|

(C)

A BB 14: 15 BRAISED FARLP 2918 998 9
SRR BINIA S8R A G ARUG eEaal
ESne 0 O5R B SUeas RIeRq 68 ana
256 B FIRMGS O oara Sif sRhl| od
GOBEE 0 SINE SFIE RIS 21 - 20 BEIGE
DI PR, BE6R G4 EIRIRG BRSe SRR, SRR
B €1'6 ARMAT 4o 2'6 G 500 ARl 7

(A) & Flig (B) 7RAg
(C) 8 (D) eAa

fode 9O 206 seNSR ERE AT
E0RIERI 7

(A) REPAL BT T
(B} ¥, B8, SR
(C) wFha, 288, Qe
(D) W 2w, TNy
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b2, Who was known as "Ciar, the Liberator™ 7

b3.

65.

(A) CZar Alexander |
(B) CZar Nicholas |

(<)
(D) CZar Alexander Il

CZar Alexander I

Which is the most significant body of the
UNO?

(A)
(B) Security Council
(<)
(D)

General Assembly

UNESCO

International Court of Justice

The head quarter of the League of Nations

was sibuated at :
(A) Geneva (B) BRome
(C)  Versailles (D} New York

The immediate cause of the 2 world war

{A) Rise of Dictatorship
1B}

(<)

Hitler's assault upon Poland

Hitlers's good bye to the league of

nahnons

(I} Treaty of Versailles

STS-11-2018-19
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63.

6.

@ "R et GIRee abe 7
(A) @6 BISERWEE 2R
(B) WG FERIRIG RF

(C) @G BERGSIE 98
(D) e BERGwISIE 91 8

e SR QR0 SRR Be saeR 7

(A) Qe a%l
(B G910 0580
AaResl

iyl gasial=la|

(<)
(D)

e B GRRe ' 6 FRHRG BRE0IEE BIRYR
-

(A) EeGRSl (B) EWF
(C) wem, (D) A
Q6T SNgEe PRRE Jnd @'6 Bl -

(A) IEEQIER SIFEIR
(B) UemeHs CORIE EIEas

(C) e BTEraRas beRaee Beaade

(D) ek oF
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a7,

When did Non-Aligned movement

begin ?
(A) After first world war
(B) After second world war
{C) During cold war

(D) After Balkan war

In which direction the world system led

atter the disintegrations of Russta 7
(A) Towards Supremacy of US.A.
(B] Towards Communism

(C) Towards Capitalism

(D) Towards Globalization

Whao led the Non cooperation movement

in Ddisha ?

(A) Madhu Sudan Das

(B) Maharaja
Gajapati

Krushna

(€} Gopabandhu Das

(I Hare krushna Mahatab

A - 20

Chandra
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68,

BEIRN PO TS BISDIRR 6a6e Bior 6RRlRl 7

(A)
(B)
(<)

()

gen DqgE 954
Sena Sgae oee
6% K8 FRES

SRR 8 059

f88e FaEend 960 Qi s BIge
el 7

(A)
(E)

<)

3= = T =)

diFkg Casa

o0 Tase

(D) e Aol Sees

BF QIES AALEAT BIEL VRN SHER @4
an=

(A)

(B}

(©

(D)

Flf i

@rit=lR s S =

ERIDSE B4

RERGY PGS
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71

72,

Who referead Arst Mahatma Gandhi as the
“"Eather of the Matiom™ 7

(A) Pandit Nehru
(B) Netaji Subash
(C) C. Rajagopal chari
(D) Sardar Patel

Who headed the first congress ministry m
Odisha in 1937 ?

{A) Harekrushna Mahatab

(B} Krushna Chandra Gajapati
(C) Binayak Acharva
(D) Biswanath Das

The province of Bihar and Odisha was
formusd in the year

(A) 1912 AD (B)

(<)

1936 AD

1942 AD (D) 1947 AD

Who among the following was the paoneer
of the “Indian” nuclear energy program ?
{A) Dr. Vikram Sarabhai

(B) Dr. Santi Swarup Bhatnagar
(C) Dr. Homi Bhabha

(D) Dr. AP Abdul Kalam

STS-11-2018-19

o

"wew del” wese FEIE) SR 84 gaER
BIEMIES SREeR 7

(A) D86 6REEG
(B) 6RelEgeE
(C) PR & GO S5

(D) o5 950R

1937 56 BPISE P& S6GQ NRIFISRE 6REQ
G 5RGEER 7

(A) LWECHISE PR
290g feod
SriRs BeEN

(B}

()

(D) GEqgeia e

“SRiE GG SIGe” cRee PO stiafini ?

1936 ARG
(D) 1947 G

(A) 1912 PR (B}
€ 12 AS

AEFIS AUE @4 “RINSIR BIE0R 08
RiHgPe ascopl Zes 7

(A) &, SgF 2emEiE
(B) . fI5 958 990iea
(C) @ 581 W

(D) @ 4066, BOR RIRE



73.  If the location of the antipode of a place is
20°5; 94°W, what is the location of the
place itself 7
(A) 20°N; 86°E
{B) 20°N; 94°E
(C) 20°%; Y°E
(D) 70°5; B&°E

74. Which among the following islands in
India is different from the other three in
terms of its location 7
[A) Baratang (B) EKatchal
{C) Kavaratti {D} Rutland

75.  In which of the following areas of India is
radial patbern of drainage noticed ?

(A) The Amarkantak Plateau
(B) The Aravalli Mountains
(C) The Malwa Plateau
(D) The Satpura Hills

A-22

73.

74.

75.

cW N PRe 9RO Sgs B9 200 984, 94
TR 6RimfeN Gip PEe BeYE &'Eeie ¥

(A) 20° GR6; Be® Q6
(B) 20° GG 94° &
(C)  20° o8&, 9" g&

(D) 70" @B 86° GF

#0dS 9RsRIER SINSS FEAD 6R6 R
ARIEERITOR G 7

(A) SR (B) @GR

u’:j ERET] (D) SRRIS

WIREE FEED RE BEGEE BIRGE @wuel
TG Sl g9

(A) DFfmee FimH
(B)  PIGNEe OISR
() FRe AIRgH

(D) QegmlOesgem
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7h.

7.

78.

Which of the following groups of trees
found in India contain boreal plants

onily ?
(A) Birch; Rosewood; Pine: Oak

(B) Juniper; Pine; Birch; Silver Fir
(C) Sheesham; Teak; Sal; Rosewoond
(D) Teak: Piné; Rosewood; Birch

Select the group of Bird Sanctuaries only
among the following.

(A} Chilika, Bandipur,

Vedanthangal

Perivar,

(B} Chilika, Kalimer, Kumarakom,
Vedanthangal

Chilika, Kalimer, Kumarakom,
Wainad

()

(D} Chilika, Kalimer, Periyar, Watnad

With which of the following rivers is the
Tungabhadra dam project lnked ?

(A) The Godavari
(B The Kaveri
(C) The Krishna

(Y} The Narmada

STS-11-2018-19

76.

FIRPeE cesIaalel Fer® a8 QFe Pug
ERGITEE 6RO SRR GG AR 7

(Al DI ERIRGE: ORR: B

(B) ®FDR: Do 9 SRsRde

(C) 9 AE: §IR; GRIRER,

(D) PN SeR: 6RIGEE; o

REFIS FiG) BROR TE1 BRkUtEH 9REE viE |

(A) SREI S5, SOGGE, SRGIgIER

(B) St RRFR, SESEER, CP0IRER

(C) BRelL SFife, QARG BERE

(D) E6, awisk, SOnEs), JemE

REFG 6RC PO R QEAE PORE BaIRGT
NG 7

[A) EEEGRGH
(B) @Eeen
(€) 9

(D) e



79.

Consider the following statements about
the Ladakh plateau located in the North
Western part of India and identify the
correct answer from below

{a] Itisacold desert

{b]  The Indus river flows through itina
deep gorge

{c}  Fresh water lakes are prominently
noticed in the area

{A) Both the statements (a) and (b) are
correct

(B} Both the statements (b) and (¢} are
correct

{C) Both the statements (a) and {¢) are
correct

(D)  All the three statements are correct

Which of the following places was
considered as the "Mica Capital of India”
in the past though its mica production has
declined now 7
(A} Bhilwara (B}  Giridih

(C) Kodarma (D)  Nellore
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(a) 0198 MEE A&

(b) I FRISES S0 A 08 G616 66!
DR 0GR

(c) G EBREG PR Ph ROFIR B66E SIS
BEEHE

(A) GRIA (a) 19 (b) B8 0R

(B) G@a (b) 6 (c) 6 Ia

(C) 6@ {a) 8 (c) 8 0q

(D) aFS Sertos as e

AR BY B0 sRaRi 95 PeFS sae
AT G496 "RINES B AR Faess
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(A) SRS (B) GNge

(C) &wIoe (D) GRERK,
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B1.

Which of the following pairs of places and
the energy produced therein is incorrectly
matched 7

(A)  Madhapur - Solar energy
(B) Gaulf of Kutch - Tidal energy
(<)

Manikaran - Wind energy

(D) Puga - Geothermal energy

For the cultivation of which of the
following crops are the conditions of high
temperature, plenty of sunshine, small
amount of rainfall and irrigation facility
most favourable ?

(A) Coffee (B) Cotton

(C)  Jute (D} Tea

Which among the following railways does
pass through quite undulating terrain 7

(A} The Konkan Railways
(B) The North-East Frontier Railways
[Cj The South-East Frontier Railways

(D} The West Central Railways

ST5-11-2018-19
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83,

27 1§ 690KR agUe Ul M80 ReRe
EEIGERE P 6aeR DR wees ande qed 7

(A) FER - edla 95

(B) @@ GEINE - GRS O
(C) Fifled - 09R dio
(D) N GIEYR - 6 - 1R 05

BEe Siangl. 9us JENGed, 99 otmes
RS 8 PREPR R HER)B ERe TARPe
18 £l QR0iq HRGR 7

(A) @ (B)
{C) 2R oy &l

FEEIS PR 6R6l 6RRaa S5d8 sIsw 996
WO Ghs DIeRE 7

(A) @@ R0
(B) GRG0 T SaEDE
(C) 84008 6aEIa saRDY
(D) DER-SeEIA taeas
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84,

B5.

8.

Which of the following iron and steel
plants is different from the other three in
terms of the time period of its
establishment 7

(A) Bhilai

(B) Baokaro

(€) Rourkela

(D) Vishakhapatnam

Religious Minorities in India have been
given special protection under the
constitution by the :

{A) Fundamental Rights

(B) Directives Principle of state policy

(C) Fundamental Duties

(D) None of the above

Which Article of Indian constitution
provides for Right to Education ¢

(A) Article 19 (B) Article 22

Article 21

(C) Article 21(A)

(o)

A-26

85.

gFgIeie 085 Ao 664 SallR O GUR
RIRSIRID BinY SERE\CIE WG ?

(A) wiRE

(B) GEwIEDl

(C) wIeR6HRM

(D) ToEIaea

QURES A 06 SPOM R SEIE 96 FRITEH
Rl DERIGG SN0 D08 ERIREE

(A) eARe Blas
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(A) =% 19 (B) i 22
(C) &5 21(A) (D) eig 21
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89.

90.

Who has the power to elect the President
of India ?

Elected members of Parliament

(B) All elected members of Parliament

and elected members of Legislative
Assemblies,

{A)

(C) Elected members of Legislative
Assemblies
(D) All members of Parliament and

members of Legislative Assemblies

From which of the following constitutions
the concept of Directive Principles of state
policy has been borrowed 7

(A) Ireland (B) America

(C) Switzerland (D) China

Under which Article of the Constitution,
The Parliament can make [aw on the

subjects of state list 7
(A) Article 249 (B) Article 250
(C)  Article 356 (D) Article 252

Which of the following is not a function of
the Prime mimster 7

(A)
(B) To appoint ministers

(C) Toactasalink between the President
and the Council of Ministers

To act as the leader of the Lok Sabha

To preside over cabinet meeting

(D)

ST5-11-2018-19
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2.

92.

93.

Who can amend the Indian Constitution 7

(A) President

(B} Prime Minister

(C) Supreme Court

(D) None of the above

What happens when there is disagreement
between the two chambers of the Indian
Parliament regarding constitutional
Amendments Bill 7

(A} The bill may be returned to Lok

Sabha

(B} The bill may be sent to the President

(C) Death of the Bill

(D) None of the above

To grow multiple crops in the same land

is called Multiple Cropping. It is possible
with :

(A) Application of HYV seeds.

(B) Applicabion of chemical fertilizers.

(C) Availability of well developed

irrigation system.

(D) Increase in area of production.

A-28
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95.

96.

We need knowledge and enterprise to be
able to put together land, labour, physical
capital and produce an output this is
called :

(A} Fixe factor

(B) Varable factor
(C) Human capital

(D) Financial capital

Disguised unemployment means

(A)

Worker are unemploved in some
SEASOTIS,

(B) Worker's capacity is underutilized.

(C) Some worker marginal productivity

is Zero.
(B} Woaorkers are willing to work but not
getting jobs.

Which among the following is a
non-renewable resource 7

(A) Ground water (B) Forest

(C)  Air (D) Minerals
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97.

99,

Banks charge a higher interest rate on loan
than what they offer on _

(A} Credits (B) Buyers

{C) Deposits (D) Sellers

Investment made by MNCs is called -

(A) Internal investment
(B)
(<)

()

Foreign trade
Foreign investment

MNone of these

Where is National Consumer Disputes
Redressal Commission is located ?

(A) Lucknow (8] MNew Delhi

(C) Chennai (D} Mumbai

Japan invested most part of its resources
in the development of :

(A)
(B)
(<)
(D)

Financial resource
Human resource
Physical resource

National resource

-oDo-

A -30
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94,

99,
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